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1. What is the mass (in grams) of 3.50 mol of Cl, ?

3,50 mol | 70,4 tmass (2 35.45)
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. How many molaes of CL4 are in 338 grams of CHs ?
358 g | [wmol .oty looxd
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. How many molecules of N,Os are in 3.50 mol of N2Os?

3.50mol | (.02x10? _ 9 107 X103
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. How many moles of copper are in 1.204 x. 10* Cu.atoms?
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: HEQW many m0|ecule%‘ N2O are in 2.50 mol of N,O?

250 moks | (02102 o |5 0 (0™
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. How many moles of iron are in 275 Fe atoms?
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. What is the mass (in grams) of 2.50 mol of Mg?
2.50 roles | 24.30 ¢ — (0.5
| moes

. How many moles of NaCl are in 125 g of NaCl?
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[25(5 | ,:;;‘meilgi:,' 22,46 + 354
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9. What is the percent composition of PF3?

P

S 2000 - 35, 2 Y ~
Dw/%a_«%b 3007 +(3x1€.9¢) = 8.4/
P2 2yi0ab = (Y. 5%
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10.What is the percent composition of N,S3?

Nz 2x14.00 = 72 2.5%0 (2 x14.00) #(3 ¥ 32:00) < 12 ig

Calculate the empirical formula.

P= Yz, 6y%

P= Yz.qy 9o
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12.A compound is 30.4% nitrogen and 69.6% oxygen. [« éf/l

Calculate the empirical formula. 2.SY1
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